5 b B OH

FREHMAEBBRTHIEEZERE SEMHSRUAS

1 EEEW
] RH B R A A B B AR ER BB X
2 E&EYH%
EE | ORE | BW | \ BATEAE (nf) ZOMh | 7
- FTTEM | A IR W52 dh B
Fa| BT | B ~ ~ S| M5
i) X B4 7(m)
1 | BHHE | & iﬁi‘ ﬂﬁk g R7.4.1~ | 1.10X1.50=1. 65 THEEACEK | TR 1
1B 7 e my | R10.3.31 (= PA=0) ~
1-577-1 L6
18
T VAR R7.4.1~ | 1.10X1.00+ TEEHECEK | L | K1
1P I ” R10.3.31 | 0.50X0.50=1.35 (P ~
1% 6
T VAR R7.4.1~ | 1.10X1.00+ TEEECEK | L1 | K1
1P I ” R10.3.31 | 0.50X0.50=1.35 (P ~
£ 6
2 | fEiAm R7.4.1~ | 1.60X1.00=1. 60 TEEECEK | 1 | K2
1 [t ” I R10. 3. 31 (P ~
£ 6
e H R R7.4.1~ | 1.10X1.10+ EERACEK | L | K2
1 I I R10.3.31 | 0.50%0.50=1. 46 (R ~
£ 6
3 | 1EIAM R7.4.1~ | 1.60X1.00=1. 60 TEERACEK | 1 | X3
1 [ I I R10. 3. 31 (B ~
16
e H R R7.4.1~ | 1.10X1.10+ THERACEK | 1 | X3
B 1B I I R10.3.31 | 0.50X0.50=1. 46 (L) ~
1% 6
4 | fEim R7.4.1~ | 1.00X1.10+ TERECEK | EL | X4
10 R10.3.31 | 0.50%0.80=1. 50 (AR ~
U U /E s
E7
e H R R7.4.1~ | 1.00X1.10+ HERACEK | 1 | X4
1 R10.3.31 | 0.50%0.50=1. 35 (R ~
A A /E 5
17




(1) REITRESTZEICE1HLE LET,

(FE2) FEIRITIZ L » TE, FEMORIFERCA T F v ZDOBEOBREDOBMSICXERH 5586 55D T,

JEBERTICHERR L TS 7ES WY,
(JE3) NHEBEKEIK) FYa—A, a—t—, &K K FLFELLET (X =3, WEEZERS
(FE4) Woeflisld, EENTEANRE LD 20l EofER] & &2 L7-flits & LET,

(£ 5) HEOWIEITIEES 2 Z LIFWRETT 2, Wk 1706 3 ORKE D ERIFFRI 1 HH7D 1L L
F9, L. EREERETDH LT, BEZRECEIRWVWES (BFIAE 2WEETR—D 1E

LRGN IRNGE 2 E) 13, ERZE2 TRNT 2580350 £7,
(1E6) BHARRIL, - Xy bR ML - EVETHEBASNAGHRELET,
JE7) BHARSIN Ay 7 & L, PR OARG Z@ERTET L2 L LET,
(£ 8) KFRHZ B BIEHEAN OER G h & AEEME T& 5 TIEME BERER) & LET,

3  HHAS R UHAHAR

SEAE | LAY (Rsk AT k) FH A ] R
E5 | fERT S FR ik LA BZOEA
W) | T424-0211 | 8 1Y | 054-369-119 | R6.122~R7.1.31%% R6.12.2~R7.1.31445
7 FRlE TS K | PR 0 TR THERHE | FFRi18:30~1E4F
X 42 BT | SR IAHNAE LR F#1:00~4-1%4:00
1-577-1 T2, HEE, SLH KROYER
FE4(012H298~1H3H) %
B <
4 EREEZEBDRE
(1) REEH SM7E2H7H (7))
(2) BHEAZE IHEHEEEEREEZEEICLD BT
5 Zhih
(1) SEMmE
SEES REET AT 7E #h S E M
EHAEB R e ] TR 7K XA T
1 ‘ 34,000 /4
1EVAME 1 (2 &) 1-577-1
TE AR 1 [
2 I 57,000 [ /4

(ERiEE e Y

TE VAR 1 B
3 N 57,000 /4
& 1A A 1
TE VAR 1 B

4 n 57,000 /4
16 AR AR 1 P

(2) FEMAFRRUHFAE
OVEPZ BT B} OB T R
A W B R0 8 IKE304 ~4x W H /-4 5 RE154y
(LR, HEEH., OLEROMERSEL, (12H298~1 A 3 H) (X7
MEEVHZZ T AR E LTEICEBELTOET,
MIETRE D WRWHIEL, % 5 RFLICPAIT L E 7,
OVHBL AR D fiti g A A X2k B
ik 2 FIHE %5

NI 18 A #1100 A




(3) BEIFEEHDRFTERE
HERF 1 S0 3R AN 4 AR AN 5 AR
BR7Ed () - 5, 659 9, 100
e b (BliA - 1) - 678, 620 1, 164, 260
HERE 2 RN 3AEE SR04 A0 5 A
g () - 4,900 7,900
e b (BliA - [) - 610, 000 1, 120, 000
AR 3 RN 3AEE SR04 A0 5 A
Bres () - 7,320 8, 955
sebm (BliA - [) - 951, 600 1, 176, 300
EER 4 S0 3 AN 4 AR AN 5 AR
g () - 4,876 4,700
¢ b (BiA - 1) - 434,120 420, 000
(4) EEYHUNDOBEEIRFTHDZEIKRT
BRI L
(5) Z0ih SEFIE

L




SER S B




EEES1ONE

%] 1

1R

(EEHEFR

T 1+

<
rr

=
[nmﬂmz ‘
i

TERE | BERE

P4 4

BLERRE

1R

Cr=pi=E:

HERTERE (2H)




2 HFEBS20DNER

1 (%] :
I
£
[ 1Y l& 1l /| l
i 0.}
B2 AR &
#y7% Cl34]
UP
R
B E DS
EPS
| |
| |
D —1 K=
*
¥
% [0 Z ft
=M #uEzEx M
o < At i
=
= 2
I
— I

H Ehfloehk




3 ZEESINUER

Ik RE B S

1
=)

IS
-
1

1

>

-

P
.

={i" =
==

[(FEmBes 1R —
RN ]
~__ | =

[ MV’% I / L — -
R 2 [pRke 53

#y7% If = BRLH | HERE

ARR HE
= WHE DS
up
B - . EPS ) —
[ ] ]
_D = T—=

% J DG RE

" [0 2 {4

U 3B

= kA" TR @ L .

= & O

= At o

ia}

S T

H Bhfloehk




4 ZFEBESIDHMER

(EaiE  10]

S

3 31

(ERE=E®E 1]

- —f #ﬁl& e =
£ 2 Wk I ‘Qrﬂ-% N

™ 7 "Ll B |I

v i
2 Bz Ds'f

up
Bi& . o W '}-7‘4
[ | [
_D = T—=
% Y DG RE
" [0 2 {4
Ud B
= kA" TR @ L .
= & O
o < A %
1]
[ e e e S S
ﬁé PN
H &) e i




